N = 0l & At & M A

SN B
H: UFTHE SHS (LI SHIY/ANLHY - HEXH)
Sl RYWA M 4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=1 509,998 576,782 A 66,784
ANETHE S (LT SHEY/XNLHE - HEXH) 245,598 355,198 A 109,600
KA Mg d 109,330 106,710 2,620
SESHQ MW Fel 109,330 106,710 2,620
201 L2l 58,320 55,700 2,620
01 At 22l 37,790 36,170 1,620
O e+t 37,790
o XA SEIXA ME
402 * 7,50004 = 123 3,600
o XM SEIXA M L S&
402 * 7,50004 = 123 3,600
o XA Mgt OXAM M
403 * 30,0000H 1,200
o XA Mg LR HHE MA H
=& 2@ » 25,0000 53 9,000
o e s+=S2 FE MHMHlA 02
4,400,000& = 13l 4,400
o MY EXXE Hsm JtE L HIHIE
=cldl 1,200,000& = 1JH 1,200
o XYY Hel2 9lE ASHE NUlA 08
= 4,000,000& = 13l 4,000
o 2 EHAHEE X3 =32 L S| SE2HI
2,050% * 2,800 5,740
o RSN BUHUY 4+42 L SHAF 424
=4 200,000& = 15 3,000
o RSN YYNBA H2ATHE AU
sz 250,000& = 13l 250
o AEJNE MHEMZE IXNYF, =4 oM =
== 3,000& * 100F * 3 AL » 23| 1,800
02 =24l 20,530 19,530 1,000
O 332=2 £ HMAl 2,030
o HEhs =8 SUHE AMEE
50,000& = 104 = 12& 600
o MEXE gl SXNALAY SHAHU
3 ABZ 50,000& = 12& 600
© CCTV & CHEX & AsSHEXE &5
SHUHY & AIER 480
20,0004 = 204 ~ 123
o Xt= XAl 65,0003 = 2CH ~ 13 130
o BAMNHRES 110,000& = 200 = 13l 220
O X& oehdl 8,900
o XA MEgH 2 382X 2RUER
) 1,400& = 1,750£ * 204 4,900
o XA Mgt 4+ ¥ sl ¥
22354l 2,000,000& = 2CH 4,000
O AM&ZH s 9,600
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403 = 45,00004
40& = 30,0000H

726,000,000& * 2.4%

80& » 3,500 = 12&
225 7Y
16,000& * 2504
200,000& * 1074
4,700 = 1004
200,000& * 54

et =2 M=

* 8,00000 =

Hee MXSe =
1,0008 * 10021
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5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
o QI ®AE=H| 500,000& * 123 6,000
o N2 AEBHE HRANLE SXNES
350,000& = 12& 4,200
202 044l 11,050 10,330 720
01 20t 11,050 10,330 720
O Ko+ 24, AARY, 242 89 S
85,000& * 2 * 3 » 13 510
O M= FEAAH HM4NS
85,000& = 2 * 3 » 23 1,020
O Meo+g SEUHEZY 2 MW 85 (2
L) 5,320
= =X 20,0008 = 6 * 3 * 123l 4,320
o &AM 50,000& = 2 * 2& * 53 1,000
O 2eN= N+ Mg F83
85,000& » 298 = 4 « 33| 2,040
O Me+=g HMEXty a5 gl 423
10,000& = 3 * 6 * 123 2,160
303 Z& 3 10,500 10,500 0
ERE 10,500 10,500 0
O He+g 8UT Mgy I L 22| 24
A ZH3 3,500
o F R+ 2A 1,000,000& * 1JH 2 1,000
o R BA 500,000& * 302 1,500
o ¥ 2A 250,000 * 4042 1,000
O Me=g Mgt = Lo 7,000
o 1@ Xt 280,000,000 * 1/100 2,800
o 248Xt 70,000,000 = 3/100 2,100
o 3@ Xt 42,000,000& * 5/100 2,100
308 XXM SOl A 30,748 33,113 N2,365
N 3JN2SUHUe3AHAE A 30,748 33,113 A 2,365
O M2+ HFEAAY KX B4
30,748,000 * 14 30,748
405 RHoHE S HI 20,812 22,925 A2,118
01 AL EZFHSH 20,812 22,925 A2,113
O ANs2IINAH(AUSI) HHM 72
2,312,420 = 9K 20,812
NS HEHE MegH = 14,120 14,120 0
g LBEHE MY =007 14,120 14,120 0
201 Yt | 7.720 7,720 0
01 At 22l 7,120 7,120 0
O et==ZH| 7,120
o FHXALNHE MEAHUHE oM ¥ S
E 723 * 17,00001 = 53| 6,120




SN B
H: UFTHE SHS (LI SHIY/ANLHY - HEXH)
Sl AFBEHE MEY I CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o I LS LS HHESOIPIR 25
A AE 123 * 6,944 = 123] 1,000
02 =224l 600 600 0
O XHEUEHZE MEHH SUE MERS
50,000& = 12& 600
202 Odl 6,400 6,400 0
01 = LH 4 1l 6,400 6,400 0
O MHEUHE HEH A= 5,200
o 2t 20,0008 = 2% * 8¢ » 123 3,840
o 22| 85,000& * 2 * 4g * 23| 1,360
O AAZF MEgXte s SR
10,000& = 1H * 10& * 123 1,200
HE2AZHI(H4=1)(JEH/IIE) 264,400 221,584 42,816
ol 2 gl 10,450 12,880 N 2,430
ol 2AH| 10,450 12,880 A2,430
101 @14 Hl 10,450 12,880 A2,430
03 B2 (RIAHY)2Z2NE S 10,450 12,880 A 2,430
O NMZA2 R 10,450
o IpAZE
14,513 = 2% = 20AI2t = 128 = 150% 10,450
Jl23l 253,950 208,704 45,246
JlE2&l 253,950 208,704 45,246
201 Ler24E] 244,268 199,022 45,246
01 At 2t 2l 28,621 28,621 0
O Bt=ZHl SHH & 12,534,000 » 14 12,534
O =SEdl SAAH& 16,087,000 * 14 16,087
02 =224l 215,647 170,401 45,246
O 2323 & HNA SHAY
215,647,000& * 14 215,647
202 O4dl 4,882 4,882 0
01 = LH 4 Hi 4,882 4,882 0
O BA2E SUAHY 4,882,000& * 14l 4,882
203 YR =&l 4,800 4,800 0
04 FN2ELSZ=TH 4,800 4,800 0
O &(FH 271¥) 400,000& = 123 4,800




